Boruuranue (Bruntanue 4)

68 Bk, 6T v =

Umst Jlata:__ OueHka:
9-4= 10 -4 = 6—4= 9-4=
8§ —4= 7-4= 8 —4= 10 -4 =
7-4= 8 —4= 9—4= 8 —4=
5-4= 10 -4 = 8—4= 7—4=
8§ —4= 5-4= 9-4= 5-4=
7-4= 6-4= 10-4= 8§ —4=
10-4= 9—4= 7-4= 5-4=
6—4= 5-4= 6—4= 8 —4=
7-4= 9-4= 7-4= 9-4=
8§ —4= 5-4= 6—4= 5-4=
6—4= 104 = 7-4= 8 —4=
9—4= 7—4= 10 -4 = 7—4=
8—4= 10-4=
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BrruuTanue (Berantanue 4)
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&5 Lk, 600 2o 555

Wwmst: Jata:___ Ouemkai___
9-4=5 10-4=6 6—4=2 9-4=5
8—4=4 7-4=3 8—4=4 10-4=6
7-4=3 8—4=4 9-4=>5 8—4=4
5—4=1 10-4=6 §—4=14 7-4=3
8—4=4 5-4=1 9-4=5 5—4=1
7-4=3 6-4=2 10-4=6 8§—4=14
10-4=6 9-4=5 7-4=3 5—4=1
6—4=2 5—4=1 6—4=2 8—4=14
7-4=3 9-4=5 7-4=3 9-4=5
8—4=4 5—-4=1 6—4=2 5—-4=1
6—4=2 10-4=6 7-4=3 8—4=4
9-4=5 7-4=3 10-4=6 7-4=3
8—4=4 10-4=6
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